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(1) 1E=Eth

(BAL: 1T, %)

SRS NN SRR (777 ) WAL SR AEE) IR (A T RNANL
JEhr | hETA A | PSR | NAGE | THETARAL | SRR | IaAr | hETAA | SRR E R
| KT 96,900 ] BES IR -11.6
(WEAELAT) 102,400 (MEAE347) -10.5
5 BF i 84,200 (L5 HT 5 —FnmT -11.0
(WEAE2AT) 91,200 1 Lokt 0.0 (WEAE14/L) -7.5
3 IETH 76,400 AHPHBHT 5 FIARHT -10.9
(WEAESAT) 80,400 VNSV (WEAE2{7) -11.0
4 /NI 74,200 4 {FHASHT -10.3
(WEAE3(T) 81,300 (MEAEBAT) -9.7
c SERTH 74,100 5 T -10.0
(WEAEA(T) 80,600 (MEAE1147) -8.3
6 H 7 71,200 c FLERHT -10.0
(WEAET(T) 75,600 (MEAE4247) -3.1
7 LRGN 70,100 7 T HET -9.9
(WEAEB(T) 76,400 (MEAE-1647) -6.8
g [ON A=Y viNNTF1 69,500 8 JERACHT -9.8
(WEAE10/7) 73,000 (MEAETAL) -9.6
9 BT 66,900 9 A -9.2
(WEAE13/7) 68,600 (MEAE8AT) -8.5
10 RN 65,800 10 IKE T -9.1
(WEAESAT) 73,200 (MEAE147) -12.8

() T BRI TH it - T

(2) B

(HA7: 9 %)

M NARL

IR (TT ) AL

LB R (AT RN

JEGE | R4, | CEMmAS [ NAGE | RTRAL | SERZEENE | G | TRETR A | SEE R
! BF 213,500 1 Al i -16.1
(WEAE1AT) 280,000 (MEAE54T) -13.2

5 KT 189,100 ) Rl -15.9
(WEAE21T) 220,600 | - - - (WEAE24T) -15.2

5 RN 183,000 5 HES IR T -14.1
(HE4E3NAT) 218,900 (WEAE1147) -10.5

4 LGN 135,500 A TR -13.3
(WE4E4NT) 153,000 (FEAE147) -17.3

. TR 122,000 c BEHT -12.9
(HE4ESNT) 135,500 (WEAE17/L) -9.1

6 O\=brens] 119,700 6 ket -12.8
(WEAET(T) 133,300 (FEAE3TAL) -4.4

; ERVATH] 118,700 ; = Fnmy -12.7
(WEAE6AT) 133,600 (WEAE3437) -14.1

g THETH 108,000 g KT -12.4
(HE4ESNHT) 124,500 (FEAETAT) -11.4

9 JERET 99,800 9 IFifi -11.5
(WEAE10/7) 111,000 (MEAE6/T) -12.8

10 ket 95,000 10 SEAT -11.3
(MEFET147) 109,000 (MEAE13(7) -10.0
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